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Q2645609 Fill in the blank with the correct option:

You may your leg if you don't know how to while skating.

A) break, brake
B) brake, brake
C) brake, break
D) break, break

Q2649475 The phrase "encroach on something" means

A) to unravel a truth

BI to use up too much of somebody's time
C) to pay the price of someone else's expenses
D) tofill the gap

Q2649463 The phrasal verb 'Appertain’' means

A) to do something appreciating
B) to help someone

C) to belong to something

D) to remain calm and quiet

Q2645665 Fill in the blank with correct prefix or suffix:

His play nature made him very popular.

A) like
B) ful
C) ward
D) full

Q660213 Read the passage and answer the questions that follow:

“What does Mr. Darcy mean,” said she to Charlotte, “by listening to my conversation with Colonel Forster?”

“That is a question which Mr. Darcy only can answer.”
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“But if he does it any more | shall certainly let him know that | see what he is about. He has a very satirical eye, and if | do not begin by being impertinent

myself, | shall soon grow afraid of him.”

On his approaching them soon afterwards, though without seeming to have any intention of speaking, Miss Lucas defied her friend to mention such a

subject to him; which immediately provoking Elizabeth to do it, she turned to him and said:

“Did you not think, Mr. Darcy, that | expressed myself uncommonly well just now, when | was teasing Colonel Forster to give us a ball at Meryton?”

“With great energy; but it is always a subject which makes a lady energetic.”



Q2660326 Why would Elizabeth be impertinent?

A) She was impatient.

B) She wanted to ask Mr. Darcy about himself.
C) She did not want to grow afraid of Mr. Darcy.
D) She wanted to eavesdrop.

Q2660327 Why did Elizabeth speak to Mr. Darcy?

A) She was defied by Miss Lucas.

B) He addressed her first.

C) There was an important matter to be discussed.
D) She was impertinent.

Q2660328 What did Elizabeth speak to Colonel Forster about?

A) A challenge she was facing.
B) She was moving to Meryton.
C) About Mr. Darcy.

D) A party at Meryton.

Q2660325 Who was listening to Elizabeth's conversation?

A) Meryton

B) Mr. Darcy
C) Colonel Forster
D) Miss Lucas

Q2660329 What is most likely to be true with respect to Elizabeth's action of speaking to Mr. Darcy?

A) She wanted to introduce herself to him.
B) She wanted to get around him.
C) She wanted to tell him about Colonel Forster.

D) It was her reaction after she was defied to speak.

Q2645718 Which of the following words is correctly spelt?

A) pneumonia
B) newmonia
C) neumonia
D) pnumonia
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Qeson2 ZINCRIIRER FIFFRR 13@ @ 21 PERAIQ NIRLIR FAIG ULLE 622U HIEHT Q FIAT 4 |
Score Obtained : 1.0
A) KMnO,

B) NaBH,
C) CrO,

D) LiaH,

Q664700 SRS FRIQ 6RLT IV NANR LINCLAITINGR IR RRLAEI 26T ?

Score Obtained : 0.0

A) gageal
B) 2@



C) goemaal
D) QXQl

Q664379 QAR GHIY Q 6NR SIACNQI FTAER FIRYS FIRIQ 6RRNG AGY AES ?

Score Obtained : 1.0

A) 921 99 GIAFIQI 6ANYCR RAR GUIA FEQ QU U AVY AFTR IS 6RCHITR 6PTIAR AURCERT 6QHRS FIT

B) 421 9f QI9fIQl 69926 AR AUIY FEQ IRINQ U RACA R4 AICQS KA
C) 92! IR QIAAIQI 6TLYCR AAR I FEQ U AACA AREQ VTR YT 6QHIRRD
D) 92! 9L GITIQI 6TLNYCR AAR I 6RIR AT URCNNQ R RACA AIQRFQ 6R6HTR FQYE 6QHRRD




